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There are 22 general questions.

Questions No. 1 - 7 are very short-answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

Questions No. 8 — 13 are short-answer questions carrying 3 marks each.
Answer to each of these questions should not exceed 80 — 100 words.

Questions No. 14 — 20 are long-answer questions carrying 5 marks each.
Answer to each of these questions should not exceed 150 words.

Questions No. 21 - 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.

All questions are compulsory.
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HIAd R 3¢9 STl UGWehi o feheal g1 Al 1 Ig@ HIT | 1
Mention any two sources of water pollutants created by humans.

“waftm =gy’ weg i AT HIFT | 1
Explain the term ‘Golden Quadrilateral’.

qRA T U TR o 9@ § foh &1 rep! 3 Faifieh Gema 6l 8 ? Ty1-g

2 2

What two factors mostly helped in the development of ancient towns in
India ?

AT hiok ek fohre gl STdT 8 2 1

Who are called red collar workers ?

forE <o 4 A AT o1 ‘SAfeI-aTET hEd 8 ? 1

In which country are motorways called ‘autobahns’ ?

3U-TRTT 6t el g1 fomwarent 1 sg@ Hifv | é+i=
2

Mention any two characteristics of sub-urbanisation.

fore wewr bt SEEAT & Tcd hl TOMAT foRg TR T STt B 2 1

How is density of population of a region calculated ?

T &3 ! IR i o foTu 3TfYehat <31 g STYHTE T SHEEAT 3ThR
o HIYSUE ohi 3CT8WN Higd LI hIFT | 3x1=3

Explain with examples the ‘population size’ criteria used by most
countries to define urban areas.

“gepfd 1 FH TR Sl TR i % AT = e g |7 dH
ITEWN T §Y, 39 HIA Hl gfie Hifw | 3x1=3

“The knowledge about nature is extremely important to develop
technology.” Support this statement by giving three examples.

R i rdfesa gt afeai 6t fohegl a1 foivareti 1 samen Hifse | 3x1=3

Explain any three features of semi-clustered rural settlements of India.
3 P.T.O.



11. fooicll 379 a6 & Ta8 o8 gkl § ¥ Th g | s foseft s,
TTehfeh 18 3R UL < gRI SHTs Sl 8, S AT §&1e9H § | & 37
foreteft & forT T THTS hl e T S Tehd & 2 YiasT T UHT &1 Hehdl 7, 9
SoA1 o Tt FEIET FHIE B A | 37 oAl hl AT hiVT, ST 38 FEATd
YW IRGYd I 9CA Hehd @ | 3
Electricity is one of the greatest inventions of all times. It is mostly
generated by using coal, natural gas and petroleum, which are
exhaustible resources. Can you imagine the human society without

electricity ? This may happen in future, when all energy resources will be
exhausted. Explain the values that can change this possible dark

scenario.

12. ea s i Scutes =g o ofat wse ShifSu | 3x1=3
Differentiate between protective irrigation and productive irrigation.

13. 9TY UGNV o fehrql o GRUTHT sl SATEAT ST | 3x1=3

Explain any three consequences of air pollution.

14. HOR § SHEEA & fIqo ol I9Ifad i dtel dF A1foh 3R g1 armriees 9
T (e hThI 1 AT ST | 3+2=5
Explain three economic and two social and cultural factors influencing
the distribution of population in the world.

15. Taferean wieq fopd gd € ? IRa 0 Agg-9R UK & ol wameey daneti =
L S ST HITT | 1+4=5
What is medical tourism ? Explain the scope of medical services for

overseas patients in India.

16. ‘IS UYEM UleM S1eg shi itumsT d@ifsre | swehl fohedl Wm fammarsti

RS HIfNT | 1+4=5
Define the term ‘commercial livestock rearing’. Explain its any four
characteristics.

17. I 9iEed 6l faur & 9 # Twnl &1 F= 7Ed g ? AT H - hl Fheat
IR g fomarsti ot vse Hifre | 1+4=5
What is the importance of railways as a mode of land transport ? Explain
any four main features of the railway network in Europe.
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SHEEAT o QM1 B h GWI W FA d9d B ? UNG H SHee gig
TTEEAT T AR TEwA @ i foRmwarett i =re SN | 1+42+2=5
What is population doubling time ? Explain the characteristics of the
growth of population in India in Phase ‘T’ and Phase ‘II’.

“areft Y@ A fafag Twpfa % @ o TRy @ fe @ 17 39S Seew
ERI 38 e sl gfse i | 5x1=5
“Indian railways brought people of diverse cultures together.” Support
this statement with suitable examples.

IR HfY Tefegaeen § QR & 7gd &l T hIfU | =ree 6l Hy Hi
fopegl i fereiwanatt =1 e iy | 2+3=5

Explain the importance of foodgrains in the Indian agricultural economy.

Describe any three characteristics of rice cultivation.

TR % fou T Ui @amtEE (98 9 W) °, 99 @89 A, B, C, D 3R E
% g fe@me u § | g el i e T8 SHeRrt sl FErEaT | ugEeY 3R

37k HRI A Ik Tehe T T3 {@et T At 5x1=5
A, 99 foE gaeh 2003 § e g1t aren o

B. T @HN I Af=H WRE

C. TU% Y@ HqgI-qaA

D. T YHE fq0H-qeH

E. U Am f&d

In the given political outline map (on page 9) of the World, five features
A, B, C, D and E have been shown. Identify these features, with the help
of the information given below and write their correct names on the lines
drawn near them :

A. A country having the lowest rank in Human Development Index
2003

A railway terminal station
A major sea-port

A major airport

| o QW

A mega city
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Note :

22.
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el v7 @acr gieanea ahenfee & fog, 397 G 21 & T
WE:

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1)
(21.2)
(21.3)
(21.4)
(21.5)

(21.1)

(21.2)

(21.3)
(21.4)
(21.5)

HHa forehtd gaehieh 2003 § fohd <91 w1 gt fegaw & 2

AT fTaTE IR-HRTEI Yermmt o Afy THi o AW «dmsy |

gfequr smfieRT & foreft v Y@ aggl-uaH 1 WSS |

= Ffiete o TH@ fomM-9a4 &1 9 FaTsy |

I IR o fordlt Tk A &t o1 A 9qrsT | 5x1=5

Which country has the lowest rank in the Human Development
Index 2003 ?

Name the terminal stations of the Australian Trans-Continental
Railway.

Name any one major sea-port of South America.
Name the major airport of New Zealand.

Name any mega city of North America.

qRA o U T Tk {@-AEREE (I8 11 W) H, ffafad $ feafd sagw
fogl 9 fagms it 39 am fafew . 5x1=5

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)

a8 92 &ThA Tl T

T 1 TEY FST 3cUTCh ST
e I d IAeeh HRGMHT
SIS H TAIE-3LdTd <h1 Tehiehd HIA

. N [N N
qotTel | TSt fomm-uaH

On the given political outline map (on page 11) of India, locate and label
the following with appropriate symbols :

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)

The State having the largest area

The leading tea producing State

An oil refinery in Karnataka

An integrated Iron and Steel Plant in Odisha

The international airport in Punjab
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FHefeTiaa Jo7 Fae gieamaa qhemdal & g, 397 G697 22 & T |

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22 :

(22.1)
(22.2)
(22.3)
(22.4)

(22.5)

(22.1)
(22.2)
(22.3)
(22.4)

(22.5)

TR o o9 &g &% alel Tsg T I §adTsT |
AT [ < 1 a8 &1 Icd1ceh TST hiH-9T1 3 ?

e | I TIM HT 919 Fd18L, Tl dct IMEeh HREHT fEq 7 |

TSI & IW TIM 1 T FATSY, &l ANG-3891d I Tehichd T oo
g |
T o fohd TR H i fomma-uae feda 7 2 5x1=5

Name the State of India having the largest area.
Which is the largest tea producing State of India ?
Name the place where an oil refinery is located in Karnataka.

Name the place where an integrated iron and steel plant is
located in Odisha.

In which city of Punjab is an international airport located ?

7 P.T.O.
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I E. 22 % fow For question no. 22

U T {T-AHR (TS TR )
Outline Map of India (Political)
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